M 1AM DADE MIAMI-DADE COUNTY, FLORIDA
] METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Style View Products, Inc.
3561 N.W. 54" Street
Miami, Florida 33142

Scork:

This NOA 1is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.063” Aluminum Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 01-253, titled “ 0.063” Aluminum Storm Panels”, sheets 1 through 6
of 6, prepared by Knezevich & Associates, Inc., dated March 07, 2001, bearing the Miami-Dade County Product
Control Approval stamp with the Notice of Acceptance number and approval date by the Miami-Dade County
Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA #98-1005.02 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

NOA No 02-0312.01
Expiration Date: 04/25/2007
Approval Date: 04/25/2002
Page 1




PRODUCT MARKING

PRODUCT MARKING
{OPTIONAL LOCATION)

LOCATION 2250"

5
: . 063" S
3| oo 2.016 TYP) , s . 2
~ é" ° 073"
n .
A / Tvp) : 185"
: 400" - — " S o
, iﬁ 1.170" o Yl Y
! ! o "1 307" | .666" Uzineslz
3 0 090" Z-o|lma9l-
75"[ 12.00" COVERAGE l .75"[ 600" COVERAGE J’ — — © e HORIZONTAL LEG Zelmg 9w
’ ’ ’ . LZ 00~ t===zzzzs :::::::'_,:]/— OPTIONAL W g [0
t 13.50" 7.50 (LEFT OR RIGHT) wn % Ol
! K 7 2.000" wh| S8 g S
FULL PANEL HALF PANEL o83 g|°
<22 =
o3 2
= R
([T ] ny pu x|k g d
(1) STORM PANEL @ "h" HEADER (3 "U" HEADER @ OPTIONAL ANGLE VEEzga
@
o~
N S
SCALE : 3" = 1= 0~ SCALE : 3" = 1'- 0" SCALE : 3" = 1'- 0" SCALE : 3" = 1'- 0" u":: 2 g . ||u
[*¥)
NOTES <(;, gge i
. T w
1. THIS SHUTTER SYSTEM IS DESIGNED IN ACCORDANCE WITH THE Bo| o gz
1/4-20 x 3/4" MACHINE SCREW . FLORIDA BUILDING CODE, =z 2% 2 x
. . STUD PUNCHED INTO ANGLE ° L 16 6a u|z -
: . : 3 . 2. POSITIVE AND NEGATIVE DESIGN PRESSURE CALCULATIONS SHALL BE Q
g 125" TYP. 5 _, (SEE DETAILS FOR SPACING) ° o8 PERFORMED FOR ShEtr TSN Vo £ 8 g S
o o 8 093" TYP zlg ~
S . . - F 5%z lle
i = \ 1.00" woigm>
05" 3. STORM PANELS SHALL BE 5052-H32 ALUMINUM ALLOY, 0.063" THICK, WITH A NS5k
[ VARIES: 5.00" MAX. 2.00" 25 MIN. Fy (BEFORE ROLLING) OF 26 K.S.I. ALL EXTRUSIONS SHALL BE 6063-T6 ww| 84| 0
¢ ~ 2257, ALUMINUM ALLOY, UON. =z| 55 g g
o [+
4. PRODUCT MARKINGS SHALL BE WITHIN 12 OF ONE END OF THE PANEL WITH ook @J
® ANGLE ® STUDDED ANGLE @) WINGNUT 16 GAGE STEEL TUBE A MIN. OF ONE MARKING PER PANEL. AND SHALL BE LABELED AS FOLLOWS. CEE———
ALUMA CRAFT PRODUCTS = i
SCALE : 3" = 1'- 0~ SCALE : 3 = 1= 0" SCALE : HALF SIZE SCALE : HALF SIZE MIAMI, FLORIDA . 2
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED b U e
mm
5. ALL BOLTS AND WASHERS SHALL BE GALVANIZED STAINLESS STEEL OR HAVE =~ c gﬁﬁ
APPROVED COATING WITH A MINIMUM TENSILE STRENGTH OF 60 K.S.1. Eﬂ ) wi8s
v mm)
WIDTH UNLIMITED WIDTH UNLIMITED WIDTH UNLIMITED =3 cb‘%
y ¢ 6. FOR TYPE | OR Il PANELS LESS THAN 101" HIGH SHALL BE FASTENED AT OVERLAPS, AT zl.l.l ©° GU EE
(PERP. TO PANEL SPAN) (PERP. TO PANEL SPAN) (PERP. TO PANEL SPAN] MIDSPAN, W/ 1/4-20 x 3-1/2" MACHINE SCREW SIDEWALK BOLTS W/ DIE CAST ALUMINUM £2 4 D5
TOP MOUNT WASHEREO WINGNUTS OR JACKNUTS,; UTILIZING A 1" x 1" x 16 GA STEEL TUBE AT MIDSPAN Q.Ocna o
SECTION TOP MOUNT SECTIONpm- : SECTION = TOP MOUNT {SEE TYPICAL ELEVATION). TYPE i OR Hl PANEL SPANS GREATER THAN 101" BUT LESS E< 3o Wm0 g
PIECE (D.(). 5 PIECE (&) OR (©) T— PIECE (=) OR (B) THAN 135-1/2", USE FASTENERS AND TUBE AT 1/3 SPANS FOR TYPE I & Il FOR PANELS Da.le €& 52
- (OX-LIO) - OR DIRECT - ! OR DIRECT SPANS LESS THAN 33" OVERLAP FASTENERS AND TUBE AT SEAMS ARE NOT REQUIRED - > - W
wl| T wl T MOUNT w1 : MOUNT FOR TYPE lil PANELS, NO FASTENERS OR TUBE AT PANEL OVERLAPS ARE REQUIRED. <E 0 : §"’-§
= i ol ! - D a=8
e g ¢ ; 7 MATERIAL SPECIFICATIONS NOTED HEREIN ARE THE MANUFACTURER'S mEia = 2
el & i -l I l REPRESENTATION OF MATERIALS USED IN PRODUCT TESTING. 00 c g3
I 4 I - I = E
g ol g 8. THE DETAILS AND SPECIFICATIONS SHOWN HEREIN REPRESENT THE Ok "
Qu i Quly Guiy PRODUCTS TESTED FOR IMPACT, CYCLIC AND UNIFORM STATIC AIR own
“35) % w3 g w3l g PRESSURE TESTING IN CONFORMANCE WITH MIAMI-DADE COUNTY PROTOCOLS
-ala PLAN VIEW “3la PLAN VIEW ~8la PA 201, 203, AND 202. REFERENCE CONSTRUCTION TESTING CORPORA TION
EE x r 55 x r Y oL :(<’ (C.T.C) TEST REPORTS No. 95-006. 96-007 & 96-007R
< Y <
n n SuEpa w
auw|E ™ N fwl Z ‘\::\ % 1~ Tuse CwlZ 9 TOP & BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD CONOITIONS
e z | X wz|a DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE APPLICABLE.
<3 e xg| 2 & FASTENERS »J[2 L
2% L (SEE PLAN <5l i 10. AT LEAST ONE WARNING NOTE PER OPENING SHALL BE PLACED IN A CONSPICUOUS
):E w ™ x 1" TUBE  IZ|w VIEW & NOTE 6} Tow ! LOCATION ON ANY OF THE COMPONENTS OF STORM PANEL SYSTEM, ADVISING THE HOME
“o|8 & FASTENERs 9|2 oY OWNER OR TENANT THAT THE STORM PANELS WILL NOT OFFER HURRICANE PROTECTION
-
Ele (SEE PLAN Sl Sla UNLESS ALL REINFORCING BOLTS AND TUBE ARE PROPERLY INSTALLED, WHEN NEEDED.
wiZ VIEW & NOTE 6) w|Z w|zZ
w( o s [s} ] o t—— BOTTOM MOUNT
v PIECE (&) OR (§)
l ? [ 1o} 1o} ? ? & & & _J
: 7 BOTTOM MOUNT ! : BOTTOM MOUNT v ! OR DIRECT
P L PIECE (&) OR (B) [ 6" ] L PIECE (1) OR (B) 127 4TvP) L MOUNT
EITS TP OR DIRECT UNLESS CLOSER SPACING
REQ. “OR DIRECT MOUNT
MOUNT
TYPICAL ELEVATION - TYPE | TYPICAL ELEVATION -TYPE Il TYPICAL ELEVATION - TYPE Ill ,
4
NO FASTENER & TUBE REQUIRED TO HOLD PANEL SEAMS =2
TOGE THER FOR THESE MOUNTING CONDITIONS z|2
a
» :§
[ [ €l il
/ Q¢ .- R S ol 5a
————————————————————————— == T -
C L~ _ " N T i N
7777777777777 T J i 1-1/2" — w
/4" MAX H i \—/ MIN. / . > a
Frsroen g 7 oc ron esi v/ L ' (s e o ron s 25
1 5 2 >
LOADS LESS THAN OR EQUAL TO ® ® ' >
0 FOR DESIGN 110 P.S.F. AND @ 8" O.C. FOR DESIGN Z
M0 P.SF AND @8 0C FOR OESIG “ ® 1/2” OVERLAP LOADS GREATER THAN 110 P S F IS
LOADS GREATER THANTIO P S F QVERLAP FASTENERS EXISTING CONCRETE, HOLLOW tyiug with the 23
TYP. (SEE NOTE # 6) ALUM ANGLE CLOSURE PIECE BLOCK OR WOOD FRAMING éll’i’f;"ed“,meJ’:g /3
1 FR INSIDE rida Buklin
AT 0 %
BLOCK OR WOOD FRAMING or 2k ize e 22 Dste| —
ALUM ANGLE CLOSURE PIECE: 2" x 5% x 125 MAX © NOA#N - sl ate 03/07/01
1" x 2" x 055" MIN. TO i Dade Product Conti . e
2" x 5" x 055" MAX gfan' 4 s;aslimTED drawn by
EXISTING CONCRETE, HOLLOW i MC
BLOCK OR WOOD FRAMING By, w ecke
v
SCALE: 1-1/2" = 1'-0"
sheet 1 of 6

03/07/07 09: 25



A

EXISTING STRUCTURE FASTENER, SEE ANCHOR EMBED
SCHEDULE REFERENCE ’
CONNECTION “TYPE 3"
A

T/ FASTENER, SEE ANCHOR SCHEDULE FASTENER, SEE ANCHOR B
REFERENCE CONNECTION "TYPE 2~ SCHEDULE. REFERENCE *_M, [T——— EXISTING STRUCTURE
CONNECTION “TYPE 3~ 3 2 Vv
7 } " P -FASTENER, SEE ANCHOR
. » ' 4 SCHEDULE ' REFERENCE
® o ) - EXISTING CONNECTION "TYPE &~
TS, STRUCTURE
14" MAX, EL ., At . 1/4-20 MACHINE BOLT &
. g h . NUT @ 6" D.C
@ w i 174" MAX. wT ; SEIR (9]
5 — T ﬁQ-— 8w - 174" MAX Zlmg 2z
w | | . X M il S . z-lay 8 -
g | ' - . I £ — AR
8 ' ' w EDGE DIST. [ —e) u i - =3
| | - SEE @ | Z Val«
| I b I < ©) AT - - |
< I/ SEPARATION f 2 | | - w18 8 o
f f - 1 FROM GLASS | [ =l ow o228
[ [ -y ) i SCHEDULE ' SEE SEPARATION [ glys 21588 @|w
| | Il G (TABLE 2} — || | = FROM GLASS SCHEDULE | 5142 < LT 8w
SEE I ® i el3 w AN l O, gl3 £ ® 4lag o 3T 20
SEPARATION | | s 23 g u ! g8 (TABLE 2 I (x5 uzlEgd
FROM GLASS | - - Ye ] i 176" MAX. B P Slw _ w|Z - EAN
o T i —Le MAX N U Z|Zuw o, ]2
SCHEDULE _ _ B i 23 GLASS @conT | 2|92 P R
{TABLE 2) A TV win \I — z OR DOOR ——= alb2 vio®.|u
'F ' Z2 ; GLASS W, <2 9 Vi) @ 7 I~
G | | <o [ | QY ®CONT (TYP. | X u.l‘i" wlog 2>
LASS o |Y OR DOOR —+] z < |w Lol wd o
OR DOOR | i I ) g TOP & BOTTOM @ | wyY EauUin
' ! x < 7 | !l - [ 1/4-20 MACHINE BOLT X |5 | e B AT |w
| | g3 GLASS | ©) Elgw ®conT. — | &wmnGNUT @8 ocC.  §|g l_ | | ol % gz
| i x OR DOOR —= N Zlzo | FOR TYPE { OR Il OR @ = | s =z % N
| | o i Llda | @ 12" 0.C. FOR TYPE nI o W F— Tl e -
| | i i = U | . v 9|5 1/4-20 MACHINE BOLT Uylz8¢g|e
wl e | | u SEE @ |z | EXISTING w W g & WINGNUT @ 6" 0.C z|g 832
Qiad . B i i | w SEPARATION i Zi5Y i STRUCTURE ut v FOR TYPE I OR 1l OR =
ola . ¢ v FROM GLASS i al=2 o | @ 12" 0.C FOR TYPE ill whl2m e
4 ' ®cont ! SCHEDULE | v 7 == 7 N3 Sgule
T | | {TABLE 2) ! X lw i a4 1/4-20 MACHINE BOLT wnl 28515
L i [ e S S § N I ; By 4 2 NUT @ 6" O.C >z g‘._';m g
Z [ EDGE DIST. FASTENER. SEE ANCHOR ol ms3 & J
FASTENER, SEE ANCHOR 1/4-20 MACHINE BOLT | SCHEDULE REFERENCE ol & M
SCHEDULE. REFERENCE 2 WINGNUT @ 6~ 0.C A W CONNECTION “TYPE & [—e—
CONNECTION “TYPE 5~ FOR TYPE | OR Il OR v ‘ M - i
@ 12" 0.C. FOR TYPE I = 8
FASTENER, SEE ANCHOR EXISTING STRUCTURE " e
EXISTING STRUCTURE NOTE: THIS DETAIL MAY BE USED SCHEDULE. REFERENCE ¢ U 1o
; AT TOP OR BOTTOM OF PANELS. CONNECTION "TYPE 3 ~ SIDE CLOSURE REQ'D. [SEE PLAN VIEW) = @ &:s8
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL SW|4 w88
-5 @EWVYES
Suis Ubis
WOOD CEILING/INSIDE CEILING/INSIDE '+ 2o D2k
= Qe as E
WALL MOUNT SECTION MOUNT SECTION MOUNT SECTION BUILD-OUT MOUNT SECTION 2q 3‘G0§ ES)
fn
® ® © ® Jeis SE
SCALE : 3" = 1'-0" SCALE : 3" = 10"~ SCALE . 3" = 1'=0" SCALE - 3" = 1'-0" <E o 788
S22 D i3
- m ] z'h.
1-1/20  1-1/27 MEG =) =
THREE 1/4"® WOOD LAG - 00 G 23
SCREWS W/ 2-1/4" MIN ! ! o RE
SEE SEPARATION FRDM —_—r— +~ —— EMBED. @ 247 0.C. MAX w00D ROOF TRUSS 2=
GLASS SCHEDULE j f OR FRAMING MEMBER on
(TABLE 2) | | SHALL BE PERPENDICULAR
GLASS [ [ TO PANEL
[ |
OR DOOR | @) . | _ v
| [
| r\' | SEE SEPARATION :T EMARLCTYIEND
T | . | FROM GLASS SCHEDULE | STUCCO FINISH OR
——r I I | GLASS (TABLE 2) f - PLYWOOD SOFFIT
| | e I OR DOOR—= | Elow
(LTI
| : z : I z|zo X - R 1747 MAX
— 11 » o= = 2 s T J‘—
' i - | ®conT @ 3)as ’ o =g ] 1
T 77 | 2 [ s CONT. 4" x 250" i —1
Iy | z ! [ Wiy, ALUM. PLATE OVER 1o\ :
| ~N|Z | § | 1/4-20 MACHINE BOLT 1/4-20 MACHINE BOLT | q|02 WO0OD MEMBERS n !
AN | . | & WINGNUT @ 6~ 0.C & NUT @ 12" OC. ! alna ¢ | !
Iz l X | FORTYPEI& it aND [ X |we ©) . ‘ ©
: | s | @12"0.C FOR TYPE I GconT (Tvp Y : Lqrye y .
| [ | TOP & BOTTOM 1 g i ! =
! <H1z¥=7 L— @®cont ] it i ! o
: | | I f ).SEE MIN. SEPARATION | #14, SMS BETWEEN
| | w £ (FROM GLASS SCHEDULE I TRUSSES @ 12" 0.C.
| 5 g 1/4-20 MACHINE BOLT I !
b a 8 WINGNUT @ 6" 0.C ! < "
1 1>12] emeeb. 1470 x 1-3/4" S LAG FOR TYPE 1 & Il AND ] I ® a c
pZiT @ 12" 0.C. W/ 1-1/2" @ 12" 0.C FOR TYPE Iil | g s
Lo by PENETRATION INTO WOOD —dla < -
J‘M FASTENER, SEE ANCHOR x S
. . SCHEDULE ' REFERENCE
TWD 1/4"® x 4-1/2" S S LAG SCREWS ' S °
5 UeRD anD @ 247 0.C. MAX. W/ 1-3/4" PENETRATION N CONNECTION "TYPE & (MAX.DESIGN LOAD = 72 P.S.F ) -
IN CENTER OF STUDS ‘
EXISTING STRUCTURE
2" x 6" T EMBEO SOFFIT CONNECTION DETAIL
WOOD CONT @
SCALE - 3" = 1-0" Approved as complying with the el T
NOTE: THIS DETAIL MAY BE USED = SIDE CLOSURE REQ'D. (SEE PLAN VIEW) Florine Buiding Code P N
AT TOP OR BOTTOM OF PANELS 03/07/01
NOTE: THIS DETAIL MAY BE USED

NOTE: USE OF THIS DETAIL IS LIMITED TO + 72 P.SF AT TOP OR BOTTOM OF PANELS.
- HEADERS (2) & (3) CAN NOT BE USED N

COMBINATIGN WITH THIS DETAIL
drawing no.

WALL MOUNT SECTION (BOTTOM ALT. BUILD-OUT MOUNT SECTION
® ( ) ® 01-253
SCALE 3" = 1-0" SCALE - 3" = 1'-0" (sheet 2 of 6 |

scale drawn by

AS NOTED MC

design by checked by]
VK VIK

03/07/01 09:27



: ——
H | R TV T *'—\/\—[
! © [ [
| ! [ ° [ -
n |'_® [ | w
| @ 1] | © | ]
| I ] [ | 3
i GLASS 5 | : STORM PANEL | a
OR DOGOR z 2" x 2" x 093" ALUM [ '
i x x . i [ G
| 4 STUD ANGLE | g | £l Uz dysls
| ® 2 [ w I 215 Z- kA8 -
———~(® 2" x 2" x 093" 5 i [ ale - * 2w
| ALUM. STUD ANGLE 4 | z 1/4-20 THRU MACHINE | oy ol g S ilw
i a i z SCREW ANGLE TO | J o | uf 8 E Lo
| N ( | g ANGLE CONNECTION @ l PR % 2 < <
| < MAX. 178" TILE | zroc [ N Hu =92 °
| z FINISH MATERIAL 1 | % | |2 2180 2
i g 2" x 2" x 093" | x| g g0 27 g -
L [ — —_ Th STUDDED ANGLE | ; s —0 E o ¥ g
T P )
— - L — : g VZ883 e
%’\‘ X o o (o] =
| - L B
{ 3/4" PLYWOOD P % : z :u, g § . v
5 2" x 4" x 1/8" CONT P . : i | w <5 g2z
ALUM. TUBE {6063-T6) 4 .y w
- 176"® RAWL CALK-IN @ 7" O.C. £ N OUG v XY=
z WITH 7/8” MIN. EMB. IN CONC. OR 1 i S &l
= HOLLOW BLOCK OR 1/4"® LAG SCREW P 9 T iz - N
: @ 127 0.C. W/ 1-1/2" MIN. EMB. N \ u.l2gzls
Y IN WOOD. WOOD SHALL BE OF SPECIFIC < 5/16" @ RAWL CALK-IN FASTENER. SEE ANCHOR vl zZ8%|3
s GRAVITY "G” OF 0.55 OR GREATER a . . ANCHOR SCHEDULE. REFERENCE Sz an ~
. @ S 0.C. W/ 1" MIN. EMBED. CONNECTION “TYPE &~ > 2y
Svwes 1/2"® THRU BOLT @ 12” 0.C o Y INTO CONC. OR HOLLOW BLOCK w22 o
Ema| H W/ 5/16-18 MACHINE SCREW ~No 2wl
s 1/6"® RAWL CALK-IN @ 12" 0.C. u.;a 2 w B E
WITH 7/8” MIN. EMB. IN CONC. OR R : ® 2 x5 . T z|Z2%8llg
EMB. HOLLOW BLOCK OR 1/4"® LAG SCREW 2" x 5" x 1/8” CON . . . . z31g8a¥ S
@ 24" 0.C. W/ 1-1/2" MIN. EMB. IN WOOD ANGLE 6061-T6 ALUM. W/ 2" x 3" x 178" OR 2" x woi s 5 o
WOOD SHALL BE OF SPECIFIC /4" STUD @ 12" O.C. 5" x 1/8" CONT. ANGLE
GRAVITY “G" OF 0.55 OR GREATER 6063-T6 ALUM. (TYP. TOP ————— ]
& BOTTOM) .
@ 2" x 2" x 1/8” CONT. ALUM. ANGLE 6063-T6 NOTE: THIS DETAIL MAY BE USED AT . h E@
TOP OR BOTTOM OF PANEL. M — L0
NOTES THIS DETAIL MAY BE USED AT = c g 89
(MAX. DESIGN LOAD = 72 PSF) TOP OR BOTTOM OF PANEL Em - = bip
(MAX. DESIGN LOAD = 72 PSF) | -g Gu%’,gg
(MAX. DESIGN LOAD = 72 PSF) :I.I.I 2 ch
Ink]
2 oW ok
n " g 187
PASS THRU" DETAIL @ EDGE MOUNT DETAIL @ ANGLE BUILD-OUT EE a:csg B
3 g3
@ SCALE : 3" = 1'-0" SCALE : 3" = 1-0" SCALE : 3" = 1'-0" 30. g Egggs
E <
0 293
_<E > - ES
mEA o =
EXISTING CONCRETE OR H o
HOLLOW BLOCK ‘90 € g
SR
on

ALT LEG DIRECTION
- TW0-1/4"® THRU BOLTS
J 2" x 3 x 1/4" x 0°'-8"
- - 6063-T6 ALUM. ANGLES
N FOR 2 x 9" x 1/8" BEAMS
: USE 2" x 3" x 1/4" x 0'-8"

6063-T6 ALUM. ANGLES
FOR 2" x 5" x 1/8” BEAMS

~ ALUM BEAM (SEE BEAM
2 [ SCHEDULE BELOW FOR
~ BEAM DESCRIPTION &
MAX. HORIZONTAL SPANS)
e
- L Tf 1/74"® RAWL CALK-IN @6 " 0cC
5 : 176" MAX W/ 1/4-20 MACHINE SCREW W/ 7/8"
> & rﬁ MIN. EMBED. IN CONC. OR HOLLOW
~ N N — BLOCK
v / I
3 - - #14 SMS I o
= @ 12" oc [ . I T
. : [ z|@ - i | .
. N | e
N .
s . <ToRM : x| 1/4-20 MACHINE BOLT :‘— STORM ?lw -
m a | gz & WINGNUT @ 6" O.C | PANEL <o c
. ANEL = | w FOR TYPEIZ Il OR @ 12" i ez
- i 0C FOR TYPE Il —— | x|k o
¢ N P L [ £z 2
EMBED BEAM SCHEDULE T 093oR ! - >
— THREE 1/4°® CALK~IN ANCHORS x 3¢ X J A e
P A R |
@ 3" 0.C. W/ 7/B" MIN. EMBED. DESCRIPTION| EAREL) BEAM STUDDED ANGLE
IN CONC. OR HOLLOW BLOCK W/ S—
3" MIN. EDGE DIST. USE THREE 2" x5" 50" [ 9'-5"
ANCHORS FOR 2" x 5" x 1/8" BEAMS Tw = 125 = — {MAX. DESIGN LOAD = 72 PSF)
TYPICAL FOR EACH ANGLE Tf= 125 81

w .
£ 8-0
2" x9 5'-0" |15°=11~ E . ..
Tw = 125" B’ « date
Tf= 125" |8-0" |13°-7" - 03/07/01
(MAX. DESIGN LOAD = 72 PSF) scale
AS NOTED

® HEADER MOUNT DETAIL @ ALT. TRAP MOUNT DETAIL

SCALE : 3" = 1'-0"

drawing no.

01-253
sheet 3 of 6

SCALE 3" = 1-0"

03/07/01 09:33



TWO -~ 5/16"® CALK-IN @ 3-1/8"

0.C. W/ 1" MIN. EMBED. IN CONC I
OR HOLLOW BLOCK W/ 3-3/4" MIN
EDGE DIST. W/ 5/16-18 MACHINE

SCREW j

[

|

[

|

[

d T |
P (® 2" x 2°x 093" :
|

!

|

1

[

_Q
k
j

8

2" x 27 x .055"
6063-T6 CONT.
ALUM. TUBE

8°-5*

T

B'-S )
.

)

_}
c.]
NG
nj

A
EE
1260 N. UNIVERSITY DRIVE, SUITE 180 « FORT LAUDERDALE, FL 33

TEL: (954) 382-2800 = FAX: (954) 382
WEBSITE: WWW.KNEZEVICH.COM

176" THRU BOLT @
12 0.C. ANGLE TO
ANGLE CONNECTION

‘ EMB STUDDED ANGLE
_\ ‘_®

|

!

|

|

!

|

/4”9 RAWL CALK-IN @ |
11" 0.C. W/ 7/8" MIN i
|

|

!

|

1

!

I

EMBED. INTO CONCRETE W/
1/4-20 MACHINE SCREW

MAX. PANEL LENGTH

- #12 SMS

@ 12" 0cC

MAX. PANEL LENGTH

-2989 + FLORIDA COA #3205

* E-MAIL: KA@KNEZEVICH.COM

1-172" 3]
MIN.

L ® 2" x 2" x 093" 2" x 2" x 093"

STUDDED ANGLE STUDDED ANGLE 9

2" x T"x 9°-7" MAX. Tf=0.13",
Tw=0.055" 6063-T6 ALUM
LAP BEAM

MAX. PANEL LENGTH
S
R

—
L z
- ® 2" x 27 x 093" 1/4-20 MACHINE SCREW I
STUDDED ANGLE STUD & WINGNUT @ 6" 0.C. v
FOR TYPE | & Il AND @ 12~ Tz
0.C. FOR TYPE Il U

1/4-20 MACHINE
SCREW @ 6” 0.C

1/4-20 MACHINE SCREW . 4
STUD & WINGNUT @ 6~ O.C. )

. FOR TYPE | & Il AND @ 12" po _1-1/72"
17679 RAWL CALK-IN 0.C FOR TYPE Il f L TTTMIN

W/ 7/8" MIN. EMBED. v v ® 2" x 2" x 093" 3=
IN CONC. OR HOLLOW o STUD ANGLE =
BLOCK @ 6" 0.C 27 x| )x 18 wh

2" x 3" x 1/6” x 0°-6"
6063-T6 ALUM. ANGLE
(TYP. TOP & BOTTOM)

TWO-1/4-20 MACHINE SCREWS
ALT. LEG DIRECTION

6063-T6 ANGLE wwv
zZ

EXISTING C.B.S. (o]
)

EOPYRIGHTO 2001 KNEZEVICH & ASSOCIATES, INC}

NOTE: THIS DETAIL MAY BE USED AT
TOP OR BOTTOM OF PANEL

(MAX. DESIGN LOAD =+ 72 PSF)

NOTE: THIS DETAIL MAY BE USED AT
TOP OR BOTTOM OF PANEL

(MAX. DESIGN LOAD =+ 72 PSF)

NOTE: THIS DETAIL MAY BE USED AT
TOP OR BOTTOM OF PANEL.

(MAX. DESIGN LOAD = 72 PSF)

635-4555
635-4557

Fax. (308

@ STORM PANEL SUPPORT BEAM

SCALE : 3" = 1'-0"

2" x 2" ALUM. TUBE BUILD-OUT @ STORM PANEL BUILD-OUT

SCALE : 3" = 1'-0"

SCALE : 3" = 1"-0"

PRODUCTS

QUALITY PRODUCTS SINCE 1964

Style View Products, Inc.
dba
3561 N.W. 54TH STREET TEL:

ALUMA CRAFT

Miam), FLORIDA 33142

0.063" ALUMINUM
STORM PANELS

FASTENER, SEE ANCHOR SCHEDULE
X T .
EXISTING STRUC URE7 REFERENCE CONNECTION ~“TYPE 1~
| e
<
. 1/4-20 S.S. MACHINE BOLT &
MBED WINGNUT @ PANEL MIDSP AN ros i
© OR @ 517 0.C. MAX P Y
N :‘r/
b [ Te
2 c|®
L [ 2/2
> a I MIN. 2" x 2" x 125" ~— STORM PANEL H
5 p [ Pl CONT. 6063-T6 ALUM. w 2|2
e a I gl o ALLOY OR 18 GAUGE gl [o)2
~ [ Zz|Zo GALV. STEEL ANGLE ol el
| [AR -4 -|O0
o~ o K
[ S5 22
: uz.v gm A > &
< J ved N . v X
SEE SEPARATION ( —— ® alh2 nppm A4S complying with the MiHE
FROM GLASS SCHED | ow orida Bu ding Cod S
{TABLE 2) | X|uz Dete O4 X M
£5 HE
GLASS : v NOA# SN
OR DOOR Miami D3 S
-] ¥_m_J_ 1 Dram Dade Product Controj L] e°

date
03/07/01

DIRECT MOUNT DETAIL

SCALE : 3" = 1-0"

ALT. CORNER DETAIL

SCALE : 3" = 1'-0"

drawing no.

01-253

03/07/01 11:32



A

TO (J]
Uzi88s zj
ZC A3 8|~
—_—n o * I wi
(TR v
~— :‘;8 Si=
wv q< g ‘ﬁ' E
ws( 238 g|v
o | A& o
<322 |4
— 0 « X g
TABLE 1 - STORM PANEL SCHEDULE TABLE 2 - SEPARATION FROM GLASS SCHEDULE ug "’9_‘ § § -
o, N 2
A L] I
TYPE I TYPE N TYPE I MINIMUM SEPARATION [ MINIMUM SEPARATION e 88 M ;
[*¥)
ALL MOUNTING |STUDDED ANGLE MOUNTS,| STUDDED ANGLE MOUNTS, POSITIVE [ACTUAL SHUTTER | FORINSTALLATIONS | FOR INSTALLATIONS Lulp2gls
PAN ( 30' OR LESS GREATER THAN 30 z|524%iN
CONDITIONS W/ “F" TRACK MOUNTS W/ “F* TRACK MOUNTS DESIGN SPAN (L) I | x gz
ABOVE GRADE ABOVE GRADE olw2 ¥
“U” HEADERS, "H" STUDS @ 6" 0.C. & W/ STUDS @ 12" O.C. L(%D (FT-IN) (INCHES! (INCHES =588
NEGATIVE | HEADERS W/ STUDS DIRECT MOUNTS W/ & DIRECT MOUNTS Sigogll
' . " (PSF) Uolr8%|e
DESIGN LOAD @ 6" 0.C. ANCHORS @ 6" 0.C. | W/ ANCHORS @ 6" OR 12" 0.C. W/ BAR NO BAR W/ NO BAR —2|583°
W (TOP & BOTTOM) (ToP & BOTTOM) & BOLTS |ITYPE ill ONLY] >=lE s § °
wl = m
(PSF) IR
Cmon Cran T on 5-0 2-1/2 2-1/2 1-1/8 N> ;’%E .
(FT-IN) (FT-IN) (FT-IN) 8-5 2-1/2 2-1/2 1-5/8 z|258 e
40.0 Zo583 2
300 P PR, — 8-8 2-1/2 2-1/2 1-5/8 wSI8E =g |
Z - Z N CEEEEEE—
200 P s o EEA 2-3/4 3-3/¢4 2-5/8 -
S -0 = - Z
50.0 8-5 10 -6 10 - & 2-172 2-1/2 1-174 - 28
8-5 2-1/2 2-1/2 1-3/¢4 v U o
60.0 7-9 10 - 0 -5 50.0 € < 12
Py 8-8 2-1/2 2-1/2 1-3/4 e @ i:e
- - - 2112}
> -2 2 - 10 °-0 1M-0 3 3-3/¢ 3 g_, 13' Euniss
700 6-7 °-8 8-8 5.0 2-1/2 2172 /L Sul gouggég
75.0 6 -2 5-6 8-2 8 -5 2-1/2 2-1/2 2 EZ i"cngm
80.0 5-9 9-3 7-8 600 P 2713 212 18 DE 3° 8%52
90.0 5.2 8-9 6 - 10 -0 3 3.3/4 3 a7 s EQ.EE;
- =
100.0 L -7 8 -3 6 - 2 S -0 2-1/2 2-1/2 -1/C <E 2D ;5’:5
110.0 4L -2 7 - 11 5 -7 700 8 -5 2-1/2 2-1/2 2_1/4 mEE = 2
. 0
120.0 3-10 76 5 - 1 8 -8 2-1/2 2-1/2 2-3/8 ge € :
- - -3/4 g
130.0 3-7 7-2 L -9 9 -8 3 3-3 3 on
140.0 3-3 6 -8 L - L 4L -0 2-1/2 2-1/2 1-1/4
150.0 3.1 6 -3 4 -1 80.0 8 -5 2-1/2 2-1/2 2-3,8
160.0 2-10 5 _ 10 3I-10 8-8 2-172 2-1/2 2-1/2 -
Z Z MMM VEETED
170.0 2-8 S -6 3.7 Z z 23/2 3-3/4 3 | €
- -1 2-1/ -
180.0 2 -7 5 -2 3-5 2 1-17%
190 0 2 g A n 3 3 50.0 6 -0 2-1/2 2-1/2 1-3/8
- - - - 8 -9 2-3/4 3-3/4 2.3/L
2000 2-3 L-8 3 -0 % -0 2-1/2 2-1/2 ik
100.0 6 -0 2-1/2 2-1/2 1-1/2
8 -3 2-3/4 2-1/2 2-1/2
L -0 2-1/2 2-1/2 1-1/4
110.0 6 -0 2-1/2 2-1/2 1-1/2
NOTE. 7 - 1 2-1/2 2-1/2 1-1/2
L -0 2-1/2 2-1/2 1-1/74 2
FOR TYPE Il - g(EJABMoSLTT%&/T:ET:EL TUBE ARE REQUIRED TO HOLD PANEL 1200 s o 2 1/2 212 Y g
) 7-6 2-1/2 2-1/2 2-1/4 ol 122
3
* ANCHOR SPACING SHOWN IN TABLE 1 FOR DIRECT MOUNT SHALL NOT EXCEED =AEE
THAT SHOWN IN FASTENER SCHEDULE. I
w >
> |5
[ 1] ¥
L CIECRNANN
Approved ascnmplvmgm!ht e 5
Florida Buiding Code :5
Dete, S
NOA#,
MmmlDadel’roductCoutml da,e
Divi 03/07/01
m%ﬁééé»
- C
VIK VIK
drawing no
(sheef 5 of 6

03/07/01 09:40



ANCHOR SCHEDULE ANCHOR SCHEDULE
FASTENER SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS FASTENER SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS
w 2" EDGE DISTANCE 3° EDGE DISTANCE w 2° EDGE DISTANCE 3" EDGE DISTANCE
g U
z E LOAD 50" g'-5" 11 -6 5°.0" - Mt z E LOAD 5.0 8'-5" M- 5°.0" roge 11~
'J, g ANCHOR TYPE (w) MAX. SPAN MAX. SPAN MAX. SPAN MAX. SPAN MAX. SPAN MAX. SPAN 'J, g ANCHOR TYPE {w) MAX. SPAN MAX. SPAN MAX. SPAN MAX. SPAN MAX. SPAN MAX. SPAN
X PSF CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION X @ PSF CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION
v MAX. TYPE TYPE TYPE TYPE TYPE TYPE vy MAX. TYPE TYPE TYPE TYPE TYPE TYPE
P J
Tl2(3 e 51203 la sf1)23]a|s|1i2]3(a(s|1]2]3]. s[1](2]3]s]s Ti2f3)eisfrf23 e s|1|2(3]alsf1i2]l3|als]1]2]3]. S{1|2|3|¢4]s Uzldygsiz
z- | RR8=
%8 121121212 (12}12(10[ 11| 9 12|12 86912112 11212121212 12| 11|12]12] 6 |12| 8 | 11 L8 2112|116 81241635 |10 [ 311212112 7 (11]12]5 (10| & | 6 |12 713 ¢ pny ol B ; i
— wl T g W
xm 62 1212 12|11 ]12]12 8179112 6|5 {7112(12(12112(12|12] 7 |12| 8 1211214 [10]l6 |9 "(m 62 12918 |4 |6 |10 5 Ll8 3 311211121 e 811213173510 5 3 V;)— |._|.|‘ 8 E ::
¢
- ags |~
17470 RAWL CALK-IN 72 121121210 [12 |12 716|812 Sial 61212412 |12]12]|12]5 |12 7 100123191517 17470 RAWL CALK-IN 72 12/5|7(4|5]9 4 316 3 127 |111(S | 711 6|3|s4]8 4 3 L:U g 2 1 g
W/ 1/8" EMBEDMENT W/ 1/8" EMBEOMENT 2/ a8
2 1/4-20 SIDEWALK BOLT 92 1207191711123 |5]¢]6]12 4131511219121 9 [12]|12| 395 |8 12(3;714l6 2 1/4-20 SIDEWALK BOLT 92 12/3|5]3({4}7 3 S 1/3|8|4fs5]9 S 317 [ PR g :
(3/4"@ HEAD) 200 |12 L3512 |35 |2 L131511213|7|efef12{3|7|el6l12]3]7]c]e {3/L"@ HEAD) 200 |s 5 5 7 A 7 A 7 A -0 g c ¥lg
U o 3
48 120112127 [10{12| 4 |8 |4 | 6 |12 6|3 ]4l12)12112|8 111215 |10ls5 e 12]3|7|415 48 1212|1015 |6 [10{3 |6 |3 |3]|7 4 1211211216 [ 7|M[{3 7|3 |esls8 S 3 o“' Q - § L
N
62 121107115812 613/4])9 4 31121121126 |8 |12|38]4|5]10 61313 62 12 8|45 |8 L 3|5 3 1217194 (5|9 S 3)e L m‘; c.> é w 5
U:(]: 72 (12|69 ¢ 10 5 |8 4 3112(7|n]s 7|12 71349 5 3 []:0: 72 (1ie|7(3]a]e 4 5 3 12|el8islalT 5 5 3 ::’,'jj 3—;% >
wr w
176"® RAWL ZAMAC NAIL-IN 92 1213[713|s5]|8 [ 3|7 3 12/ 4,94 16]9 5(3|3]7 4 1/4"® RAWL ZAMAC NAIL-IN 92 9 315 3 4 10 612]31]6 3 5 3 ;’ E e YN
W/ 1-1/8" MIN. EMBEDMENT W/ 1-1/8" MIN. EMBEDMENT “_ w4 5 w
200 |77 3 7 3 7 3 7/ n 7/ 200 |& 4 4 5 3V s 3 5 3 oy g3z
4 =
L8 12112112 8101124 [ 7|5 |6 {1 5|13 f412112(12]8(10012|¢ |8 56|12 6134 [A:] 1212|1218 (10]12|{4 | 7|5 |6 |n 513 |¢12(12{12|8[10]12]| 4 |8 6 |12 6|3 Lz - g -
o
*W 62 121109 |6 7|12 S13|4]9 [A 3121111176812 6 ltla]s 5(3]3 *E@mm 62 121101916 7|12 5/3,4]|9 [A 3211 e | 8|12 6|4 (6]9 5|3 Eu E § =
z ) ~
72 12/6 8|5 10 Si3|4]7 3 126195 10 Si3|4|8 L 3 72 12/618]5s 10 S|3|4]7 3 12]6]9(5(|6|10 Si13|4]8 4 3 >: E ] é e
1/6"® ELCO FEMALE » 1/4“® ELCO FEMALE Lu_‘ =z m =,
E “"PANELMATE W/ 1-1/4" 92 12/316]l4(5]8 3 316 3 1213174 8 L 317 3 [+ “PANELMATE W/ 1-1/4" 92 12/3|6|4 (5|8 3 3le6 3 121317 4 8 3 317 3 No|STa |k
b MIN. EMBED. & 1/4-20 9 MIN. EMBED. & 1/4-20 wan| > 8516
¥] SIDEWALK BOLT 200 6 32 6 3 6 3 7 3 7 3 7 3 @ SIDEWALK BOLT 200 [} 312 6 3 6 3 7 3 7 3 7 3 >z g : = g
4 w
8 L8 1211211218 [10[12{ 4 | 7|5 |6 |11 5|3 i4f12]|12)12)8 10|12/ ¢ |85 6112 63 |4 & [N} 1201211218 |10[12| & (7|5 |6]m 513)¢4|12}12)1218 10|12/ |85 6112 6134 ¥8 o = 2 o
(4
g xﬁi@:mmm 62 [12/10/9 |6 | 712 513/4]9 4 312/ 11|68 [12 64|49 5133 g *N@m 62 [1211019 6|7 |12 5(3|4)9 4 31271111116 12 6lLiu]9 513(3 e ———— ]
8 72 126 8|5 |6]10 S|3|&]7 3 1216195 10 S{3/s|8 4 3 8 72 126|815 10 513|147 3 1216 1 9|5 i6]|10 S 418 4 3 h Bh
°. /4@ ELCO MALE ; 1/74"@® ELCO MALE gg
m "PANELMATE" W/ 1-1/4" 92 12{3 |6 (|4]|5]8 3 3]e 3 12|37 4518 4 3|7 3 o "PANELMATE" W/ 1-1/4" 92 2|3|6(4 58 3 3]e6 3 12/3]7|4 |58 4 317 3 v “ hih
z MIN. EMBEDMENT | MIN. EMBEDMENT € @)
s 200 |6 3|2 6 3 6 3 7 3 7 3 7 3 2 200 |e 3]2 6 3 6 3 7 3 7 3 7 3 wia € i=
w nin|
8 [12)12912)10(12|12] 6 |10|6 | 7|12 3|7 (e |5 [12]12]12 12|12 12 12/ 7|8112/3|9 (5|6 [A:] 12201217 | & 8 [A 3|e 3 121219 s |s)o 5 3]e [A g_l ‘g’ clﬁ§88
S 62 112012112/ 8 9123 |7 |4 5|0 5|3 |412)12/12]9 (11]12 9 (56|12 7|6 5 62 (10 S|3(|3]e 3 o ni6|7]3|af7 L 5 3 Zu'l Eaugggg
72 122/8 1117|812 64|59 513131129 )12|/8|9|12({3|8]4]5]n 634 72 913]|5 S 4 1013|6[3(3]s6 3 4 Ez Q.-Dcngmw
b -] w
1/6"@ ITW TAPCON W/ 92 2|41 B[S5|6(10 S[3|3|s8 4 3125 iMle| 7|1 6|3 |4]9 S|3(3 1/L"@ITW TAPCON W/ 92 7 3 4L 3 8 4L ER RS 3 < 3 ogE;’
1-1/4" MIN. EMBEDMENT 1-1/4" MIN. EMBEDMENT 0.8 Ecl 2
200 |8 L 3]s . 3ls 4 39 s13(3[9 si3(3]9 5(33 200 |3 3 3 3 3 3 - |5 [y
(] it
48 12'12 12]11 1211261816 ]8J12/31615]|5]|12112 121211212 12,8 (10124 |10{6 | 7 L8 1211218 | & 8 S 3]e6 3 12112112|s [7]11]3|7(3|¢e]s 5 3 <E =5 : 8;§
= 4 Zi
62 121121118 (10123 {65 |6 |12 5134121212 11{12{12]| 4 |10] 6 ’ 7112 7’1. 5 62 1M|5/e6]3 6 3 5 12 9iuis]s 5 3le A Qm " - o3
=
72 12| 8 l 917|912 S ‘ 4L (5|10 L13[13[12]10(12]9 |11|12]3 ]9 |5 ' 6|12 6|4 id 72 93|53 S 3 4 121418 (3147 4L S 3 oo c BH
174"@® DYNABOLT 1/L"® DYNABOLT .F
SLEEVE ANCHOR 92 12/8[7(5 7|1 I ‘ 3149 3 3112|6 (12|78 |12 7lais|n 503 IL SLEEVE ANCHDR 92 7 A [A 3 9 63([3]s 3 [A 3 own =
W/71-1/8" MIN W/1-1/8" MIN. ‘J‘\
EMBED. 200 9 3 319 3 319 3 31N 503 )¢4]Mn 5|13 ¢4]n S(3|4 EMBED. 200 3 3 3 A 3 L 3 L 3 ! 1N
N
48 12'12 12112121129 [10] 9 |11{12] S | 8 l T8 112112)12112]12[12| 11 {1212 12112 1219 110 L8 12112163 7 3 S 12(12)1 8|4 (S |8 4 3|6 3
62 127;‘12 12|12)12|5 18 |7 (|9 ]12|3 |6 ’ 5|612]12(12]|12]12|12 1219 11124 10| 7 |8 62 91453 5 3 I 10563 6 3 I
72 120121211 (12|12« |7 (6| 7|12 S|4 s2)12i1z2]12]12[12|s |11 8 (s ]|12]3 |86 | 7 S:mmmmm 72 8 I 3|4 3 9131s 3]s 3 4
1/47® RAWL OROP-IN & 92 12,719 |8 10]12 5(5]|6|12 L6512y 8l12|10112012]3 ]9 6| 7 12 7151]6 3/16"® ELCO TAPCON 92 6 3 3 3 7 4 4L 3 :
(3/4"® HEAD) W/ 1-3/8" MIN. EMBEDMENT
1-1/4" MIN. EMBEDMENT 200 12 414|512 L 4|5 ]12 L4 |S 12 7(5(6{12 7.5]61[12 71516 200 3 3 3 3 3 3
48 12(12|8|s|6f10|3|5[3[3]7 3 1212617111363 |48 4 3 48 1201212112 112129 (12| 9 (11|12 5 12278
62 12 614517 4 S 3 12/7|8|4|5]|8 S 3]e 3 * 62 12012 (12]12112]12]5 (122|718 12|39 5|6
E 72 Mie |53 (4]6e6 3 5 1247|6467 4L S 3 2" SCREW ROD 72 12112 (1211011212 ¢ (10| 6| 7|12 84S
3/16"® ELCO TAPCON 92 4 315 4L 10 S[{3(3]s 3 4 1/4L-20 1TW EPCON EPDOXY 92 1216 {12 10|12 8(516]12 6|44
1-3/8" MIN. EMBEDMENT ANCHOR W/ 5.5 MACHINE
200 4 4 4 4 4 SCREW W/ 2" MIN. EMBED 200 12 614|412 6|44 |12 64 |4
ANCHOR NOTES: ANCHOR SCHEDULE
1. SPANS & LOADS SHDWN HERE ARE FOR ANCHOR SPACING 7. ANCHORS SHALL BE INSTALLED iIN ACCORDANCE WITH FASTENER SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS
ONLY. ALLOWABLE SHUTTER SPANS FOR SPECIFIC LOADS MANUFACTURER'S RECOMMENDATIONS WITH MIN
MUST BE LIMITED TO THOSE SHDOWN IN TABLE 1, PAGE 5 EMBEDMENT INDICATED ABOVE w 3/4- EDGE DISTANCE
2. ENTER TABLE BASED ON THE EXISTING STRUC TURE 8. 1/L-20 TRUSS HEAD BOLTS MAY BE USED IN LIEU OF ua “
MATERIAL, ANCHOR TYPE AND EDGE DIS TANCE 1/4-20 SIDEWALK BOLTS. zZ>2 LOAD 5 _o~ 8 .5~ Ma- c
3 CHOOSE DESIGN LOAD GREATER THAN OR EQUAL TO o (W) MAX. SPAN MAX. SPAN MAX. SPAN o
NEGATIVE DESIGN LOAD ON BUILDING AND CHODSE SPAN 9 77 DESIGNATES ANCHOR CONDITIONS w3 ANCHOR TYPE =
GRATER THAN OR EQUAL TO SHUTTER SPAN WHICH ARE NOT ACCEPTABLE USES. X @ PSF CONNECTION CONNECTION CONNEC TION iy
4. REFERENCE SPACING FROM APPROPRIATE CONNECTION TYPE w 'J, MAX. TYPE TYPE TYPE >
SEE CONNECTIDN DETAILS FOR IDENTIFICATION DF CONNECTION 10. EXISTING STRUCTURE MAY BE CONCRETE, HOLLOW BLOCK, OR | @
TYPE. WOOD FRAMING. WHERE EXISTING STRUCTURE IS SHOWN AS 1 ‘ 2 J 3 J 4 ' S| ' 2 j 3 r 4 l 5|1 J 2 J 34 ' S =
5 MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES CONCRETE, IT IS FOR PRESENTATION ONLY. REFERENCE
WALL FINISH DR STUCCO ANCHOR SCHEDULE FOR PROPER ANCHOR TYPE BASED ON TYPE [X:] 12 12!12 12 ’ 12 12’ 9 ‘ 9 f10}12 12,5 ! 70719
6. WHERE LAG SCREWS FASTEN TO NARROW FACE OF STUD OF EXISTING STRUCTURE 1-3/67 MIN s 12‘ 21 5 [ S r 7 l sls 3 J S .
FRAMING, FASTENER SHALL BE LOCATED IN CENTER OF NOMINAL . " 2 121121212 [12 12 6
2" x " (MIN.) WOOD STUD. WOOD SHALL BE SOUTHERN PINE G = 0 55 * CRAINED FOR DIRECT MOUNT @ 6 OR 12° SPACING ONLY Dmm . .
OR BETTER DENSITv SPACING NOT TO EXCEED VALUE SPECIFIED IN ANCHOR SCHEDULE. 72 |12{12]10 11]12 2] 4 r 6 ] 68|12 4 1 sle Appruved as complying with the Hol ll..'
1/4"® WOOD LAG SCREW . sae
g W/ peneTRaTiON | 92 |12 7 l8]9f10frz[3 T4 B tle]s Florida Buiging Code dare 03/07/01
§ (SHEAR PARALLEL Dste 2
-4 TD GRAIN} 4 ' 4 r S L | L |S NOA# scale drawn by
a - . ! AS NOTED MC
8 1-3/74° MIN 5|5 [ 719 MnmiDtdel’MldCoﬂlrol design by |{checked by
; B T‘q——f‘ 3 l: 6 7 Div VIK VIK
E ; 3|56 By . drawing no.
1/47°® WOOD LAG SCREW ! 01 '2 53
W/ 1-3/4" PENETRATION 3 { 4 l S
(SHEAR PERPENDICULAR
TO GRAIN) 43"‘ 5 sheet 6 of 6

03/07/07

09:43



